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N.B.: (1) Question No. 1 is compulsory.

1. (a)

® (b)

()

(d)

(2) Attempt any four from the remaining six questions.
(3) Statistical table is permitted.

Evaluate If(z)dz along the parabola y = 2x’ from z = 0 to z = Lo i b 5
where f (z) = x2 — 2iy.
If the mean of the following distribution is 16. Find m, n and variance. 5
X S HBEEa0T 24
PiX=x): 1/8 m n 1/4  1/12
Evaluate IF.df where F =2xi+(xz—-y)j+2zk from0(0,0,0)top (3,1.2) 5
<
along the line OP.
A random sample of 50 items gives the mean 6-2 and standard deviation 10-24. 5
Can it be regarded as drawn from a normal population with mean 5-4 at 5%
level of significance ?
valuate -(-—m—i—— dz . Where ‘c’isthecircle |Z|=1 forn=1,a = 3. 6

n mdw;duals are chosen at random from a population and their heights are 6
' be 63, 63, 64, 65, 66, 69, 69, 70, 70, 71 inches. Discuss the

that the mean height of the universe is 65 inches.

s the respective heights x and ¥ of a sample of 12 fathers and their 8

70 | 66 68‘67\69\71\

69 68 71 | 67 | 68|70
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where “¢’ is the ¢
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5} For normal distribution 30% items are below 45 an_d 8% items are above 64,
: Find the mean and variance of the normal distribution.

z-1
: ions of F(2)=- indicating regions
(c) Obtain Taylor’s and Laurent’s expansions of (2) r. S g reg

i

of convergence.

4. (a) A car-hire firm has two cars, which it hires out day p}' day._'l'h_c nu'mhcr_of
demands for a car on each day is distributed as a poisson distribution with
mean |-5. Calculate the proportion of days on which neither car is used and
the proportion of days on which some demand is refused. (e'* = 0-2231).

eZ

(b) Evaluate §Cos nz o, Wliere ‘c’ is the circle [z | = 1.

c

(¢) Find the line of regression for the following data and estimate y corresponding
#ox = 15-5.

" 12 13 16 i 26 25
catrin' | 22 BEREEIN 29 | 33 37

5. (a) A die was thrown 132 times and the following frequencies were observed.

No. Obtained : 1 2 3 4 5 6  Total
B NS 20 25 15 29 28 132

Test the hypothesis that the die is unbiased.
(b) The equations of the two lines of regression are x = 19-13 — 0-87 y and
y=11-64 - 0-50 x.
(i) the means of x & .
(ii) the coefficient of correlation between x & .
Stokes theorem for F = (2x —y) i—y 2’ j — ¥* zk and *s’ is the surface
is e x*+ y*+ z*= a’ lying above the xy-plane.
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' . late the correlation cocfficient between x and y from the following data -~ 8
M Ex = 140, Iy = 150, I (x ~ 10y = 180 I (y - 15) =215,

les the out come when a fair die is tossed, find moment generating 6
&W) of X, and hence find the mean and variance of X.
o

i&'+x+3

dx,using contour integration.

¢ theorem, evaluate j!(tm + by’ +cz )ds over the
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